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B.A. HonourslProgramme 2nd Semester Examination, 2023 . A ~947 S
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Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.

SECTION-A

1. 31m~R3a~ tr.X1JTM': fi'f<pa'1 ~q'1I.I~~l41 'if ~:p'1lillll: I

(CP) !!q;'1I~: Cf):3TRfuI:? ~~~ G't'Iq1i ?

~ !!q;'1IX1)q~~lIj~I~OI~: Cf>GTq;1~jqllIRi ?

(l1) wrfff ~ \3q~el'<: fcR<;rr: ? ~ q:q.:f \iAT: cf>l~~I"I~lvgfk1 ?

(ED ~~tR-=rffl>~?

f-S) :g<P'11X11q~:lI~ 3FWITCf>T?mq;'fI'1I({~?

('tl) ~q;'1lmq~t~~tR-=rffl>~?

(9) :g<P'11X11q~~I~\3ffi: Cf):? ~~'<ilfll<'ll Cf):?

2x5 = 10

2. 31tM~Re flIty4ii4)j/~OO FcNil4llll-

(i) ~:, (ii) q"sql'1<'1:, (iii) 1'(l)q~~I:, (iv) "IG\J1<'11J(v) <f)1R<"'lI~II~¥{,

(vi) iI;;;lcfl6: I

5x2 = 10

31~)~R3a~;¢C4F(S411¥{ -

(CP) ~~~:qqffi~~~cflq~l~q q;\N'1(i1"1~'1lO)q<f>if$q<'1j{i"lRlI

~ 3f1'(l)(t;>l<'llcfl1%-mm ~e:>fICfllG~ffqRl<&~~n~ I

5x2 = 10

(l1) ~~ C4~'1:tI<'l~I,<C4<'1I~fPI<'l1q<.W'ftq;<J0IBHq~ \J1<'1~~q ~ qRl<'l"ll4IC"'1I"1
'1Wlvt§P<'I I
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SECTION-B

3. 4R4~~ifjf4>r~\RR~-

~ ~1c:NI\ilf4\;1<!)\1f&1lad'fll m f1l'<I\;I-~ ~ I

~ ~Cf)~I{lCf>I<:4Cf>I,<'{i)qol31~<fjIG't1<:4It1'fl1'<i4"iI~<"flf4f&&4dP,( I

4. 3TtI~f&lad~ fclCV44ifj¥f/~OO f4'<i4;ft~I-

(i) ~q"i'<I\flI1"t11""<1:,(ii)~: 1

ifjf4R1~ifjf431jv9G'flI <:41&<11cmm-
~ ~ ~ ~:, qtif;r tfR: ~, cmm c:n\S~ICI~~~ft~:,Cf)'1Cf>Od:,

3f1~d('lf('lfle:, '{!ijl~~II('If(>1~i4"iW3lRfut 1

~ "~err tllt:I<!)li ~ errqld<!)~J{II ~ ~~~ I

SECTION-C
5. 4'lt:tMifjf4 >r~ \3:ffi" ~ -

~ ,,~: qG('IfIf&~J{ "- f4i4It4dlJ{ I

~ 't1*1d~l{ltllrg("~"Iq('lf44~: "iIRl4lu:~: f4'<i4;ft~: I

6. ~\TcW' f4t4~"1I~~ 00 f&('<4dlJ{ 1

(i) qltlClG't1I, (ii) G~i4RdJ{ I

~

fclCV4441¥fqC'l44 <:41&:11cmm-
~ 1Jti ~ f.!rq;l!f ~ I

~ 3f1('<4lfl1Cf>1I

--x--
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lOx} = 10

5xl = 5

5xl = 5

IOxl = 10

5xl = 5

5xl = 5


